

AN INTEGRAL INVOLVING G-FUNCTION OF TWO VARIABLES

By

Vinay Kumar Shukla
Department of Mathematical Science
A. P. S. University, Rewa, (M.P.), India
&

Dr. (Smt.) Neelam Pandey
Department of Mathematics
Govt. Science College, Rewa, (M.P.)

ABSTRACT

Kandu [8], Agarwal [2], Gupta [7], Chitra [4], Agarwal [1], Gaunt [6], Ayant [3] and several other authors have evaluated some finite, infinite and double integrals involving the generalized hypergeometric functions.

Looking importance and usefulness of integral in various fields, in this paper we have establish a new integral involving G-Function of two variables, which will be helpful in the study of boundary value problems, expansion formula, Fourier series, statistical distribution, probability and integral equation.

Key Words: G-Function of two variables, Integral, Hypergeometric functions, Gamma Function.

1. INTRODUCTION:

The G-function of two variables was defined by Shrivastava and Joshi [10, p. 471] in terms of Mellin-Barnes type integrals as follows:

$$G_{p_1, q_1; p_2, q_2; p_3, q_3}^{0, n_1; m_2, n_2; m_3, n_3} \left[\begin{matrix} (a_j, 1)_{1, p_1} : (c_j, 1)_{1, p_2} : (e_j, 1)_{1, p_3} \\ (b_j, 1)_{1, q_1} : (d_j, 1)_{1, q_2} : (f_j, 1)_{1, q_3} \end{matrix} \middle| x, y \right]$$

$$= \frac{-1}{4\pi^2} \int_{L_1} \int_{L_2} \phi_1(\xi, \eta) \theta_2(\xi) \theta_3(\eta) x^\xi y^\eta d\xi d\eta \quad (1)$$

where

$$\phi_1(\xi, \eta) = \frac{\prod_{j=1}^{n_1} \Gamma(1-a_j+\xi+\eta)}{\prod_{j=n_1+1}^{p_1} \Gamma(a_j-\xi-\eta) \prod_{j=1}^{q_1} \Gamma(1-b_j+\xi+\eta)},$$

$$\theta_2(\xi) = \frac{\prod_{j=1}^{m_2} \Gamma(d_j-\xi) \prod_{j=1}^{n_2} \Gamma(1-c_j+\xi)}{\prod_{j=m_2+1}^{q_2} \Gamma(1-d_j+\xi) \prod_{j=n_2+1}^{p_2} \Gamma(c_j-\xi)}$$

$$\theta_3(\eta) = \frac{\prod_{j=1}^{m_3} \Gamma(f_j-\eta) \prod_{j=1}^{n_3} \Gamma(1-e_j+\eta)}{\prod_{j=m_3+1}^{q_3} \Gamma(1-f_j+\eta) \prod_{j=n_3+1}^{p_3} \Gamma(e_j-\eta)}$$

x and y are not equal to zero, and an empty product is interpreted as unity p_i, q_i, n_i and m_j are non negative integers such that $p_i \geq n_i \geq 0, q_i \geq 0, q_j \geq m_j \geq 0, (i = 1, 2, 3; j = 2, 3)$.

The contour L_1 is in the ξ -plane and runs from $-i\infty$ to $+i\infty$, with loops, if necessary, to ensure that the poles of $\Gamma(d_j - \xi) (j = 1, \dots, m_2)$ lie to the right, and the poles of $\Gamma(1 - c_j + \xi) (j = 1, \dots, n_2), \Gamma(1 - a_j + \xi + \eta) (j = 1, \dots, n_1)$ to the left of the contour.

The contour L_2 is in the η -plane and runs from $-i\infty$ to $+i\infty$, with loops, if necessary, to ensure that the poles of $\Gamma(f_j - \eta) (j = 1, \dots, m_3)$ lie to the right, and the poles of $\Gamma(1 - e_j + \eta) (j = 1, \dots, n_3), \Gamma(1 - a_j + \xi + \eta) (j = 1, \dots, n_1)$ to the left of the contour, and the double integral converges if

$$2(n_1 + m_2 + n_2) > (p_1 + q_1 + p_2 + q_2)$$

$$2(n_1 + m_3 + n_3) > (p_1 + q_1 + p_3 + q_3)$$

and $|\arg x| < \frac{1}{2} U\pi, |\arg y| < \frac{1}{2} V\pi$.

where $U = [n_1 + m_2 + n_2 - \frac{1}{2}(p_1 + q_1 + p_2 + q_2)]$

$$V = [n_1 + m_3 + n_3 - \frac{1}{2}(p_1 + q_1 + p_3 + q_3)]$$

These assumptions for the G-function of two variables will be adhered to throughout this research work.

The following formulae are required in the proof:

From Sharma [9, p.3-5]:

$$\int_0^\infty e^{2\mu\theta} (\sinh\theta)^{2\lambda-1} {}_2F_1 \left[\begin{matrix} \lambda - \mu + \frac{1}{2}, \beta; 2e^{-\theta} \sinh\theta \\ \delta \end{matrix} \right] d\theta = \frac{\Gamma(\delta)\Gamma(\lambda)\Gamma(\lambda+\frac{1}{2})\Gamma(\frac{1}{4}-\frac{\lambda}{2}-\frac{\mu}{2})\Gamma(\frac{3}{4}-\frac{\lambda}{2}-\frac{\mu}{2})\Gamma(\frac{\delta}{2}-\frac{\beta}{2}-\lambda)\Gamma(\frac{1}{2}+\frac{\delta}{2}-\beta-\lambda)}{\pi 2^{\lambda+\mu+\beta+\frac{3}{2}}\Gamma(\delta-\beta)\Gamma(\frac{1}{2}+\frac{\lambda}{2}-\frac{\mu}{2})\Gamma(\frac{\delta}{2}-\lambda)\Gamma(\frac{1}{2}+\frac{\delta}{2}-\lambda)}, \tag{2}$$

valid for $R(\lambda) > 0, R(1/2 - \lambda - \mu) > 0, R(\delta - \beta - \lambda + \mu - 1/2) > 0$.

From Erdelyi [5, p.4, (46)]:

The multiplication formula for the Gamma-Function

$$\Gamma(mz) = (2\pi)^{\frac{1}{2}-\frac{1}{2m}} m^{mz-\frac{1}{2}} \prod_{i=1}^{m-1} \Gamma\left(z + \frac{i}{m}\right), \tag{3}$$

where m is a positive integer.

2. INTEGRAL:

Following Kandu [8], Agarwal [2], Gupta [7], Chitra [4], Agarwal [1], Gaunt [6], Ayant [3] and other authors in this section, we evaluate an integral involving G-function of two variables.

$$\int_0^\infty e^{2\mu\theta} (\sinh\theta)^{2\lambda-1} {}_2F_1 \left[\begin{matrix} \lambda - \mu + \frac{1}{2}, \beta; 2e^{-\theta} \sinh\theta \\ \delta \end{matrix} \right]$$

$$\begin{aligned} & \times G_{p_1, q_1; p_2, q_2; p_3, q_3}^{0, n_1; m_2, n_2; m_3, n_3} \left[\begin{matrix} z_1 e^{2m\theta} (\sinh\theta)^{2m} \\ z_2 \end{matrix} \right] d\theta \\ & = \frac{\pi^{1-2m} m^{\lambda-\mu-\frac{\beta}{2}-\frac{1}{2}} \Gamma(\delta)}{2^{\lambda+\mu+\beta-\frac{1}{2}} \Gamma(\delta-\beta) \Gamma(\frac{1}{2}+\lambda-\mu)} G_{p_1, q_1; p_2+4m, q_2+4m; p_3, q_3}^{0, n_1; m_2+4m, n_2+2m; m_3, n_3} \left[\begin{matrix} z_1/2^{2m} \\ z_2 \end{matrix} \right] \\ & \quad (a_j; 1, 1)_{1, p_1} : \phi_1, \dots, \phi_{2m}, c_1, \dots, c_{p_2}, \phi_{2m+1}, \dots, \phi_{4m} : (e_j, 1)_{1, p_3} \\ & \quad (b_j; 1, 1)_{1, q_1} : \psi_1, \dots, \psi_{4m}, d_1, \dots, d_{q_2} : (f_j, 1)_{1, q_3} \end{aligned} \tag{4}$$

where m is a positive integer, and

$$\begin{aligned} \phi_{k+1} &= \frac{1-\lambda+k}{m}, \phi_{k+m+1} = \frac{1-2\lambda+2k}{2m}, \\ \phi_{k+2m+1} &= \frac{1+\delta-2\lambda+2k}{2m}, \phi_{k+3m+1} = \frac{\delta-2\lambda+2k}{2m}, \\ \psi_{k+1} &= \frac{1-2\lambda-2\mu+4k}{4m}, \psi_{k+m+1} = \frac{3-2\lambda-2\mu+4k}{4m}, \\ \psi_{k+2m+1} &= \frac{\delta-\beta-2\lambda+2k}{2m}, \psi_{k+3m+1} = \frac{1-\beta+\delta-2\lambda+2k}{2m}, \\ & k = 0, 1, 2, \dots, (m-1). \end{aligned}$$

The result is valid under the following conditions:

- (i) $p_2 + q_2 < 2(m_2 + n_2)$, $|\arg z_1| < (m_2 + n_2 - \frac{1}{2}p_2 - \frac{1}{2}q_2)\pi$,
 $R(\delta - \beta - \lambda + \mu - 1/2) > 0$, $R(\lambda + md_j) > 0$, for $j = 1, 2, \dots, m_2$
 $R(\lambda + \mu - 2m - 2mc_h - 1/2) < 0$, for $h = 1, 2, \dots, n_2$.
- (ii) $p_2 \leq q_2, p_2 + q_2 \leq 2(m_2 + n_2)$, $|\arg z_1| < (m_2 + n_2 - \frac{1}{2}p_2 - \frac{1}{2}q_2)\pi$,
 $R(\delta - \beta - \lambda + \mu - 1/2) > 0$, $R(\lambda + md_j) > 0$, for $j = 1, 2, \dots, m_2$
 $R(\lambda + \mu - 2mc_h) < \frac{4m+1}{2}$, for $h = 1, 2, \dots, n_2$.
 $2m \left(\sum_{j=1}^{p_2} c_j - \sum_{j=1}^{q_2} d_j - \frac{1}{2} \right) - (q_2 - p_2) \left(\lambda + \mu - m - \frac{1}{2} \right) > 0$
- (iii) $p_2 \geq q_2, p_2 + q_2 \leq 2(m_2 + n_2)$, $|\arg z_1| < (m_2 + n_2 - \frac{1}{2}p_2 - \frac{1}{2}q_2)\pi$,
 $R(\delta - \beta - \lambda + \mu - 1/2) > 0$, $R(\lambda + md_j) > 0$, for $j = 1, 2, \dots, m_2$
 $R(\lambda + \mu - 2mc_h) < \frac{4m+1}{2}$, for $h = 1, 2, \dots, n_2$.
 $2m \left(\sum_{j=1}^{p_2} c_j - \sum_{j=1}^{q_2} d_j + \frac{1}{2} \right) + (p_2 - q_2)(\lambda - m) > 0$.

Proof of (4):

To prove (4), we substitute the contour integral (1) for the G-function of two variables in the integrand of (4), change the order of integration (which we suppose to be permissible) and evaluate the inner integral with the help of (2).

The value of the integral then becomes

$$\frac{2^{-\lambda-\mu-\beta-\frac{3}{2}} \Gamma(\delta)}{\Gamma(\delta-\beta) \Gamma(\frac{1}{2}+\lambda-\mu) \pi} \frac{-1}{4\pi^2} \int_{L_1} \int_{L_2} \phi_1(\xi, \eta) \theta_2(\xi) \theta_3(\eta)$$

$$\begin{aligned}
 & \times \frac{\Gamma(\lambda+m\xi)\Gamma(\frac{1}{2}+\lambda+m\xi)\Gamma(\frac{1}{4}-\frac{\lambda}{2}-\frac{\mu}{2}-m\xi)\Gamma(\frac{3}{4}-\frac{\lambda}{2}-\frac{\mu}{2}-m\xi)}{\Gamma(\frac{\delta}{2}-\lambda-m\xi)} \\
 & \times \frac{\Gamma(\frac{\delta}{2}-\frac{\beta}{2}-\lambda-m\xi)\Gamma(\frac{1}{2}+\frac{\delta}{2}-\frac{\beta}{2}-\lambda-m\xi)}{\Gamma(\frac{1}{2}+\frac{\delta}{2}-\lambda-m\xi)} [2^{-2m}z_1]^\xi z_2^\eta d\xi d\eta \\
 & = \frac{m^{\lambda-\mu-\frac{\beta}{2}-\frac{1}{2}}\pi^{1-2m}\Gamma(\delta)}{2^{\lambda+\mu+\beta-\frac{1}{2}}\Gamma(\delta-\beta)\Gamma(\frac{1}{2}+\lambda-\mu)} \frac{-1}{4\pi^2} \int_{L_1} \int_{L_2} \Phi_1(\xi, \eta)\theta_2(\xi)\theta_3(\eta) \\
 & \times \frac{\prod_{k=0}^{m-1}\Gamma(\frac{k+\lambda}{m}+\xi)\prod_{k=0}^{m-1}\Gamma(\frac{1+2\lambda+2k}{2m}+\xi)\prod_{k=0}^{m-1}\Gamma(\frac{1-2\lambda-2\mu+4k}{4m}-\xi)}{\prod_{k=0}^{m-1}\Gamma(\frac{1+\delta-2\lambda+2k}{2m}-\xi)} \\
 & \times \frac{\prod_{k=0}^{m-1}\Gamma(\frac{3-2\lambda-2\mu+4k}{4m}-\xi)\prod_{k=0}^{m-1}\Gamma(\frac{\delta-\beta-2\lambda+2k}{2m}-\xi)\prod_{k=0}^{m-1}\Gamma(\frac{1+\delta-2\lambda-\beta+2k}{2m}-\xi)}{\prod_{k=0}^{m-1}\Gamma(\frac{\delta-2\lambda+2k}{2m}-\xi)} \\
 & \times [2^{-2m}z_1]^\xi z_2^\eta d\xi d\eta, \tag{5}
 \end{aligned}$$

by virtue of (3).

The contour L_1 and L_2 runs $-i\infty$ to $+i\infty$, so that the poles of $\Gamma(d_j - \xi)$ for $j = 1, 2, \dots, m_2$, $\Gamma(\frac{1-2\lambda-2\mu+4k}{4m} - \xi)$, $\Gamma(\frac{3-2\lambda-2\mu+4k}{4m} - \xi)$, $\Gamma(\frac{\delta-\beta-2\lambda+2k}{2m} - \xi)$ and $\Gamma(\frac{1+\delta-2\lambda-\beta+2k}{2m} - \xi)$ for $k = 0, 1, 2, \dots, (m - 1)$ are to the right, and all the poles of $\Gamma(1 - c_j + \xi)$ for $j = 1, 2, \dots, n_2$, $\Gamma(\frac{k+\lambda}{m} + \xi)$ and $\Gamma(\frac{1+2\lambda+2k}{2m} + \xi)$, for $k = 0, 1, 2, \dots, (m - 1)$ are to the right of L_1 .

Interpreting (5), with the help of (1), we get (4) under the conditions stated there in.

3. SPECIAL CASES:

On specializing the parameters in (5) we get following integral in terms of G-function of one variable:

$$\begin{aligned}
 & \int_0^\infty e^{2\mu\theta} (\sinh\theta)^{2\lambda-1} {}_2F_1 \left[\begin{matrix} \lambda - \mu + \frac{1}{2}, \beta; 2e^{-\theta} \sinh\theta \\ \delta; \end{matrix} \right] \\
 & \times G_{r,s}^{p,q} [e^{2m\theta} (\sinh\theta)^{2m} z | \begin{matrix} (a_j, 1)_{1,r} \\ (b_j, 1)_{1,s} \end{matrix}] d\theta \\
 & = \frac{\pi^{1-2m} m^{\lambda-\mu-\frac{\beta}{2}-\frac{1}{2}} \Gamma(\delta)}{2^{\lambda+\mu+\beta-\frac{1}{2}} \Gamma(\delta-\beta) \Gamma(\frac{1}{2}+\lambda-\mu)} G_{r+4m, s+4m}^{p+4m, q+2m} [z^{2m} | \\
 & \left. \begin{matrix} \Phi_1, \dots, \Phi_{2m}, a_1, \dots, a_r, \Phi_{2m+1}, \dots, \Phi_{4m} \\ \Psi_1, \dots, \Psi_{4m}, b_1, \dots, b_s \end{matrix} \right], \tag{6}
 \end{aligned}$$

where m is a positive integer, and

$$\Phi_{k+1} = \frac{1-\lambda+k}{m}, \Phi_{k+m+1} = \frac{1-2\lambda+2k}{2m},$$

$$\begin{aligned}\Phi_{k+2m+1} &= \frac{1+\delta-2\lambda+2k}{2m}, \Phi_{k+3m+1} = \frac{\delta-2\lambda+2k}{2m}, \\ \Psi_{k+1} &= \frac{1-2\lambda-2\mu+4k}{4m}, \Psi_{k+m+1} = \frac{3-2\lambda-2\mu+4k}{4m}, \\ \Psi_{k+2m+1} &= \frac{\delta-\beta-2\lambda+2k}{2m}, \Psi_{k+3m+1} = \frac{1-\beta+\delta-2\lambda+2k}{2m}, \\ k &= 0, 1, 2, \dots, (m-1).\end{aligned}$$

The result is valid under the following conditions:

- (i) $r + s < 2(p + q)$, $|\arg z| < \left(p + q - \frac{1}{2}r - \frac{1}{2}s\right)\pi$,
 $R(\delta - \beta - \lambda + \mu - 1/2) > 0$, $R(\lambda + mb_j) > 0$, for $j = 1, 2, \dots, p$
 $R(\lambda + \mu - 2m - 2ma_h - 1/2) < 0$, for $h = 1, 2, \dots, q$.
- (ii) $r \leq s$, $r + s \leq 2(p + q)$, $|\arg z| < \left(p + q - \frac{1}{2}r - \frac{1}{2}s\right)\pi$,
 $R(\delta - \beta - \lambda + \mu - 1/2) > 0$, $R(\lambda + mb_j) > 0$, for $j = 1, 2, \dots, p$
 $R(\lambda + \mu - 2ma_h) < \frac{4m+1}{2}$, for $h = 1, 2, \dots, q$.
 $2m \left(\sum_{j=1}^r a_j - \sum_{j=1}^s b_j - \frac{1}{2}\right) - (s - r) \left(\lambda + \mu - m - \frac{1}{2}\right) > 0$
- (iii) $r \geq s$, $r + s \leq 2(p + q)$, $|\arg z| < \left(p + q - \frac{1}{2}r - \frac{1}{2}s\right)\pi$,
 $R(\delta - \beta - \lambda + \mu - 1/2) > 0$, $R(\lambda + mb_j) > 0$, for $j = 1, 2, \dots, p$
 $R(\lambda + \mu - 2ma_h) < \frac{4m+1}{2}$, for $h = 1, 2, \dots, q$.
 $2m \left(\sum_{j=1}^r a_j - \sum_{j=1}^s b_j + \frac{1}{2}\right) + (r - s)(\lambda - m) > 0$.

REFERENCES

1. Agarwal Praveen, Fengqi, Chand Mehar, Jain Shilpi: Certain integrals involving the generalized hypergeometric function and the Laguerre polynomials, Journal of Computational and Applied Mathematics, Volume 313, March 2017, Pages 307-317.
2. Agarwal Praveen, Park Jaekeun, Chand Mehar and Jain Shilpi: Some Integrals Involving Generalized Hypergeometric Functions and Srivastava polynomials, Appl. Math. Inf. Sci. 10, No. 3, 2016, pp.1009-1015.
3. Ayant, F. Y.: Certain Integrals involving Generalized Multivariable Aleph function and Wright's function, International Journal of Mathematics Trends and Technology – IJMTT, Vol. 55, No. 2, March 2018, pp. 78-88.
4. Chitra S. and Prathima J.: On an Integral involving Generalized Hypergeometric Function, Journal of Global Research in Mathematical Archives, Volume 4, No.11, November 2017, pp. 53-56.
5. Erdelyi. A. et al.: H.T.F., 1953, Vol. I.
6. Gaunt, R.: A Probabilistic proof of some integral formulas involving the Meijer G-function, The Ramanujan Journal, 45, 2018, 253-264.

7. Gupta Rajeev Kumar, Rawat Devendra Singh and Kumar Dinesh: Certain Integrals of Generalized Hypergeometric and Confluent Hypergeometric Functions, International Journal of Engineering Research & Technology (IJERT), Special Issue - 2016, pp. 1-12.
8. Kandu, D.: Certain Integrals involving G-function of two variables, Indian Journal of Scientific Research, 2012, pp. 183-186.
9. Sharma, B. L.: Integrals Involving G-Function, Seminario Mat. De Barcelona, 16(1) (1964), pp.3-12.
10. Shrivastava, H. M. & Joshi, C. M.: Integration of Certain Products Associated with a Generalized Meijer Function, Proc. Cambridge Philos. Soc. 65, 471-477.